M = 0 & AFE & Al A
00BEE = 1 5] 2utall
Sl BYOLE AbRICH
B WS AU (B EMNACH (IEHIIE)
Ciol: ol oy (crol @)
S EB.E(BH) - MEAY - BAS of &t JEE! HDS2
6,085, 980 12,241,280 3,644,650
2 858,000 0 858,000
sHotorx Al Ch 2 4,800,000 3,900,000 900,000
< 4,670,000 4,350,000 320,000
2 5,757,930 3,991,280 1,766,650
8K 2 o | (B OFE AL CH (JIEH/IIEY) 21,610 0 21,610
ol 2 o] 3,000 0 3,000
EEET 3,000 0 3,000
203 22 =Y 3,000 0 3,000
M 2degooxzy 3,000 0 3,000
OBH2BALE Y (1501)
250,000 * 122 3,000 0 3,000
=2 18,610 0 18,610
SEET 18,610 0 18,610
201 Qo2 Y] 9,210 0 9,210
01 A=zl 8,325 0 8,305
Oguag 7,575 0 7,575
0I=ASEEY 60,0002 * 150! 900 0 900
CHEUEADE 210,002 * 6CH * 23] 2,520 0 2,520
0ZAINADE 350,008 * 1.53] 505 0 505
0 =AEE T
21,0002 * 3% » 108t A 53] 3,150 0 3,150
R 40,0002 » 122 480 0 480
oz 10,0008 * 1501 * 50% 750 0 750
0 zeUll 885 0 885
OBZ23 2 WA 765 0 765
0SHQa 102,002 * 1521 * 50% 765 0 765
OAEZHI ST 120 0 120
oUSAT| AS U 22| 20,0002 120 0 120
200 01 9,400 0 9,400
ETE 9,400 0 9,400
OBl 01Ul (REAI) 9,400,000%! 9,400 0 9,400
SO AR (WYY - AE) 2,254,320 9,341,280 2,913,040
2 788,000 0 788,000
2 1,500,000 1,500,000 0
< 4,620,000 4,300,000 320,000
2 5,346,320 3,541,280 1,805,040
10,570,340 9,341,280 1,229,060
oot 2 1,500,000 1,500,000 0
< 4,300,000 4,300,000 0
= 4,770,340 3,541,280 1,229,060
T EEPECELLE 2,305,000 2,300,000 5,000
201 2Bt bl 5,000 0 5,000




SN stk E AL
HH: StUATMASH (SHMNSTA/LY - &E)
el st MAS SR (chel:®2l)
SA - H2(EH) - HEAMY - BES Of &FoH J| &M BlwsSZ
01 AtR2eld| 5,000 0 5,000
OQNNSEHESHAILYMHGIHAEXE
T2 SPPT M & ,000,000& 5,000 0 5,000
OF = JHHH EHXI = & 103,828 96,248 7,580
201 B2 Ad| 28,350 27,350 1,000
01 AtR2teld] 12,350 11,350 1,000
O=gt| 5,000& * 42! » 50 1,000 0 1,000
202 OH| 14,240 10, 160 4,080
01 =Wl 14,240 10, 160 4,080
OJI2gd R nl 170,000& = 4021 + 6& 4,080 0 4,080
401 AIAHIY 204Y| 7,038 22,238 A 15,200
04 Al&H| 6,038 21,238 A 15,200
OFSURTMALH(RSEE) 0 & 0 15,200 A 15,200
402 DIt X201 N 45,200 30,000 15,200
01 QIZER=2E2 X 45,200 30,000 15,200
OFEUR=I Martglotd
760,000& * 20ha 15,200 0 15,200
405 HAE SH| 2,500 0 2,500
01 XML ESFHSHI 2,500 0 2,500
OAZHARLR 222D 7
2,500,000& * 1CH 2,500 0 2,500
5,579,200 4,500,000 1,079,200
st ol SHAEHIIBRSAL < 4,000,000 4,000,000 0
= 1,579,200 500,000 1,079,200
5,579,200 4,500,000 1,079,200
401 AIEHIZ 2B = 4,000,000 4,000,000 0
i 1,579,200 500,000 1,079,200
02 & AIEAHI 250,000 400,000 A 150,000
O3X 7 st S 2H AR S AAIL N
29 03 0 400,000 A400,000
= 0 400,000 A400,000
O SEHoAZSHAEHIBRFAALHEA
250,000, 000& 250,000 0 250,000
= 250,000 0 250,000
03 EXI0HHI 1,579,200 500,000 1,079,200
OSII? S22 AHIIBIREEX Y
(149,905) 0o & 0 500,000 A500,000
O SHYAZZ2HAHIIBIRFEXI 01 (9,45
5m’) 1,579,200,000& 1,579,200 0 1,579,200
04 Al&H| 3,650,000 3,500,000 150,000
O3KX 7 stLo g2 HAHIZE S AL 0o & 0 3,500,000 23,500,000
= 0 3,500,000 23,500,000
O SIS HAHEIZHE S AL
3,650,000, 000& 3,650,000 0 3,650,000




SN BHEOFE AN E
DA SR ANASH(SYHYLA/YY - AE)
CHol: BlErAIS N2 (Etol: 2l
SN HH-SR(EN) - NRAY - BES 0fl &t o pJE-E" HRS2
= 3,650,000 0 3,650,000
06 Al&=oHl 100,000 100,000 0
03X Bterol 2 22 AR I BRSO
0 & 0 100,000 100,000
= 0 100,000 100,000
O steto|2 22 AR SR E R
100,000,00024 100,000 0 100,000
= 100,000 0 100,000
Bt X 2 AN 32,200 0 32,200
201 YBre | 21,113 0 21,113
01 At el 2,800 0 2,800
oYY 1,800 0 1,800
OBUAAEEE BHH R
6002 * 3,000 1,800 0 1,800
o3| 1,000 0 1,000
0B HDER 5,0002 * 491 * 502 1,000 0 1,000
02 T2 12,813 0 12,813
0222 % HA 11,313 0 11,313
OHBZE 22 270,002 270 0 270
E<Bll== 10,323 0 10,323
L] 5,4002 * 250kw *6% 8, 100 0 8, 100
NE=X-] 92.62 * 4,000kw * 6% 2,223 0 2,223
oFIIOH HAR 20,0002 * 62 720 0 720
OA & EHI S| 1,500 0 1,500
o BALS X B2l 1,500,000 1,500 0 1,500
03 A2 5,500 0 5,500
OB AR DRI 21 5,000,00024 5,000 0 5,000
OBt siAb ZHItE M= 50,000 & * 103 500 0 500
202 01t 4,080 0 4,080
01 2Uotbl 4,080 0 4,080
CEEEEEES 170,000 * 491% 6% 4,080 0 4,080
203 AL =Tyl 3,000 0 3,000
03 ABETALEZY| 3,000 0 3,000
OB At ZX 3,000, 0002 3,000 0 3,000
308 XXl EHAI S O & 2,000 0 2,000
05 XXICHHIASED 2,000 0 2,000
OFISIYTAl golgl 222 2,000,008 2,000 0 2,000
405 Xt &HE S| 2,007 0 2,007
01 XAUSEHSY| 2,007 0 2,007
CETILE - 1= bIEET 2,007 0 2,007
0 2 A (1200+750750) 254,0002 * 3M 762 0 762
0 222 0] (1200%420+400) 60,0002 * 107H 600 0 600
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SA: BHEORE AbRICH
HB: SHOIEMNOIS A (SR HY LA/ - AE)
Ciol: oAl S A (ol ®R)
SA BB B(S) - NEAY - BAS 04 & o L HIDS2
0 S Xt (600+640%1130) 95,0008 * 31 285 0 285
0 BB AH(1200+3004750) 90,0002 * 4JH 360 0 360
Tl Datel KE A 100,000 0 100,000
403 AR SHHSK=01H 100,000 0 100,000
02 ZOIZSOICHEhE AL bl 100,000 0 100,000
OIS &1 1AM £ 0] 100,000, 00024 100,000 0 100,000
STy 5,080 0 5,080
201 At o] 1,000 0 1,000
01 ArRE2IHl 1,000 0 1,000
SEEN 5,0008 * 491 * 502 1,000 0 1,000
202 014 4,080 0 4,080
01 =2Uhoil 4,080 0 4,080
Ot RETT S
70,0002 * 491 * 62 4,080 0 4,080
1,683,980 0 1,663,980
A e 2 788,000 0 788,000
= 320,000 0 320,000
2 575,980 0 575,980
AR R 5,080 0 5,080
201 Bt b 1,000 0 1,000
01 A2l 1,000 0 1,000
SEEN 5,000 & * 491 * 502 1,000 0 1,000
202 014 4,080 0 4,080
01 =Uhoil 4,080 0 4,080
oIl a80l Y| 70,0008 * 491 * 62 4,080 0 4,080
1,678,900 0 1,678,900
oo 2o e 2 788,000 0 788,000
= 320,000 0 320,000
2 570,900 0 570,900
1,678,900 0 1,678,900
_ 2 788,000 0 788,000
306 2= = 320,000 0 320,000
2 570,900 0 570,900
e 1,678,900 0 1,678,900
OMBEIgOEEHDA M (1h4)
1,678,900, 0002 1,678,900 0 1,678,900
2 788,000 0 788,000
= 320,000 0 320,000
2 570,900 0 570,900
SO E Aol O|0IX LEHEBHUBE/BR) 510,000 500,000 10,000
2 70,000 0 70,000
= 50,000 50,000 0
2 390,000 450,000 A60,000
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S BHIORE AR EF
T SIYOEEANO 001X USHEBSUDZ/BT)
CHol: AXBHUIOIE =R B4 AL (chol ® )
SA B SRI(E) - HRAY - BES 0] & plEL" HlmE 2
510,000 500,000 10,000
ATEBIIFEET AL = 70,000 0 70,000
< 50,000 50,000 0
= 390,000 450,000 60,000
510,000 500,000 10,000
APE BHEEOF & T AL = 70,000 0 70.000
= 50,000 50,000 0
= 390,000 450,000 60,000
510,000 500,000 10,000
= 70,000 0 70,000
307 El=tOlE < 50,000 50,000 0
z 390,000 450,000 60,000
04 BIZEABE 510,000 500,000 10,000
Oat st otz = 440,000,000} 440,000 500,000 60,000
= 50,000 50,000 0
= 390,000 450,000 60,000
OM Bt ET (MY N) 70,000,000 70,000 0 70,000
= 70,000 0 70,000
Nss oz 5H(UBDZHT/AVIHE) 3,300,000 2,400,000 900,000
7 3,300,000 2,400,000 900,000
AEe e 2z 3,300,000 2,400,000 900,000
= 3,300,000 2,400,000 900,000
NPy 3,300,000 2,400,000 900,000
= 3,300,000 2,400,000 900,000
1,075,800 500,000 575,800
201 B2 |
7 1,075,800 500,000 575,800
01 AtRzeldl 994,800 500,000 494,800
OX A AMH RS 350,000,0008! 350,000 500,000 A 150,000
= 350,000 500,000 A 150,000
Ogstsgt| 642,400 0 642,400
OBUAXEN HSUHUSE(HER)
260,000, 000%! 260,000 0 260,000
2 260,000 0 260,000
oBAAT LS ZEsL(ATL)
5,000,000} 5,000 0 5,000
2 5,000 0 5,000
OAEBIEE SRUHC S (BUR) 80,000 0 80,000
A2 R 6IHA 20,000,000 20,000 0 20,000
2 20,000 0 20,000
NotEysANzm 282
60,000,000 60,000 0 60,000
2 60,000 0 60,000
OURHE JSUS M=
8,0008 * 1,050% 8,400 0 8,400
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2 8,400 0 8,400
OREE THHHAILKIR (GAP BROASAS
2)(%x) 29,000, 0002 29,000 0 29,000
2 29,000 0 29,000
0OHES EY Y0 Lo Ay (Y
NED 2,000, 0002 2,000 0 2,000
2 2,000 0 2,000
oIbHIO0I0IX L3t EROHY BS(OI=
== 22,500,000 * 23l 45,000 0 45,000
2 45,000 0 45,000
o I+RIO0IDIXI 23t EEOH0IE HIZ
2,600,008 * 55 13,000 0 13,000
2 13,000 0 13,000
OBIOUE HMHFTT IGE NI (2BE
=) 50,000,000 50,000 0 50,000
2 50,000 0 50,000
oBtYLE EHO INX S (S
22 ) 150,000,0002 150,000 0 150,000
2 150,000 0 150,000
oEX-FN= 2,400 0 2,400
OAETS JZTDELAMSL(2XE)
400,002 + 63| 2,400 0 2,400
2 2,400 0 2,400
03 A2 81,000 0 81,000
OSSDE UYL AES BHBAH(RE)
10,000,002 * 33| 30,000 0 30,000
2 30,000 0 30,000
OYESELE SBA(SLAL) 6,000,000 6,000 0 6,000
2 6,000 0 6,000
OAZMESS N0l SH (ML)
10,000,000 10,000 0 10,000
2 10,000 0 10,000
ORES JBLH DRBA(LSH)
35,000, 0002 35,000 0 35,000
2 35,000 0 35,000
32,000 0 32,000
202 ot = 32,000 0 32,000
03 =<0l 32,000 0 32,000
OMZEH 2T (LYRA)
32,000,0002 32,000 0 32,000
2 32,000 0 32,000
455,000 0 455,000
207 EoNE 2 455,000 0 455,000
01 HREAY 335,000 0 335,000
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S BHEIOEE AN EF
HFSH X

M NYHN A USHUAUDTHE/LUHE)
chol: AlESAe 27 (crl:H2l)
SN HH G (BIH) - MPAY - B S Ol &F 04 I o HRz2
s 1,000 0 1,000
345,000 0 345,000
307 Bler0le as 345,000 0 345,000
02 QIZHENEX 265,000 0 265,000
OB MZERCH 2= (AN (LY
) 15,000,000& 15,000 0 15,000
sy 15,000 0 15,000
OBtgrorE el "OFEMM " C2H0MH R X 2 (
HEH) 200,000,000 200,000 0 200,000
iy 200,000 0 200,000
O%ZE DY &0 23 NH (L QI=X)
50,000,00024 50,000 0 50,000
- 50,000 0 50,000
04 QIZtHAIE = 30,000 0 30,000
OBtorxEH 2H5E 95 DAKK (4
2) 30,000, 0002 30,000 0 30,000
z 30,000 0 30,000
05 QIZteE =z 50,000 0 50,000
OXYeH(dEsIHAE NS 30,000,000 30,000 0 30,000
sy 30,000 0 30,000
O Z N LA LA (2HA B THE)
20,000,000 20,000 0 20,000
ay 20,000 0 20,000
313,000 1,900,000 A 1,587,000
401 Al b= =] as 313,000 1,900,000 A 1,587,000
04 Al&H| 313,000 1,900,000 A 1,587,000
Oz &Z stdsx HESAY 0o & 0 1,900,000 21,900,000
iy 0 1,900,000 21,900,000
OBAL BHYotE ESHAZ SX (ST
) 23,000,000& 23,000 0 23,000
s 23,000 0 23,000
OSYSABBIL ABASH T& (4
&) 100,000, 000& 100,000 0 100,000
sy 100,000 0 100,000
OF&Z otz ELHZW (LED) & (
HEH) 150,000, 000& 150,000 0 150,000
s 150,000 0 150,000
Oftgorx MABRLEY(RE)
10,000, 0002 10,000 0 10,000
s 10,000 0 10,000
OAZTHEHH PR MYl & Zel(%=)
30,000,000& 30,000 0 30,000
= 30,000 0 30,000
402 912+ XH= 01 & 1,027,000 0 1,027,000




S BHEIOEE AN EF
HFSH X

M YU Y YSHUUTTHT /L)
Chel: plsreiatel X (Ete: @)
SN FH . SA(3) - MBAY - B O &t 04 ol o HlRZ2
402 DI2HK 0| & = 1,027,000 0 1,027,000
01 YI2REEx 1,027,000 0 1,027,000
OBttt s AHIZXS QI8 "AEIMER
SGED|'EZ(MHEA) 10,000,000 10,000 0 10,000
2 10,000 0 10,000
OAESSHHDOHIISSA 100,000,000 100,000 0 100,000
2 100,000 0 100,000
OZESEUE RAIATY N (LX) 150,000 0 150,000
o0 EHISEA 50,000,0002! 50,000 0 50,000
2 50,000 0 50,000
o AETHHHEHIS X 100,000,000 100,000 0 100,000
2 100,000 0 100,000
OB THHHOIH R (2¢x) 50,000,000 50,000 0 50,000
2 50,000 0 50,000
ORMSEBIAF HITHEY ZH0H (2 x)
50,000,000 50,000 0 50,000
2 50,000 0 50,000
OXEH AZTHHY ALK (2X)
100,000,000 100,000 0 100,000
2 100,000 0 100,000
OAZIIBHIZ AA J|H, ZH| K & (B A
o) 150,000,000 150,000 0 150,000
2 150,000 0 150,000
Ogady L JFRHYRAMH N X (s
A&) 117,000,000 117,000 0 117,000
2 117,000 0 117,000
Oftgrorx A= ol D23t X9 (BHEAIA)
50,000,0002! 50,000 0 50,000
2 50,000 0 50,000
Ottt x J|IsHAME UHES B2 (M)
30,000,000 30,000 0 30,000
2 30,000 0 30,000
O8t B x THHHEHK] XEA (SFxX)
120,000,000 120,000 0 120,000
7 120,000 0 120,000
OFBE stz MBS EAM(AX)
100,000,000 100,000 0 100,000
7 100,000 0 100,000
405 XHaHE S| 7o ° 700
= 7,000 0 7,000
01 RMLEE3 S 7,000 0 7,000
Oftgotx 28 SAINH P (LYH)
7,000,0002! 7,000 0 7,000
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